CHARGER
RECEPTACLE
MOUNTING

BATTERY
MOUNTING

12-17



CHARGER RECEPTACLE AND BATTERY
MOUNTING - POWERDRIVE VEHICLE

ITEM PART NO. DESCRIPTION QTY
12 3 4
1 1018021-01 | KIT, FUSE AND RECEPTACLE (INCLUDES ITEMS 2 - 10) wviiviieriiiimnneiiinenneincennnnnenns 1
2 1018468-01 ASSEMBLY, FUSE AND RECEPTACLE (INCLUDES ITEMS 3-9) ..ciceeviiiiiiiiiiiinne 1
3 N/A WIRE ASSEMBLY, #10 GREY ..coiiiiii e 1
4 N/A WIRE ASSEMBLY, #10 RED ..cooiiiiiiiii e e 1
5 N/A WIRE ASSEMBLY, #10 BLACK ...euiiiiiiiiieiireee e 1
6 1017968-01 ASSEMBLY, FUSE, 48 VOLT (INCLUDES ITEMS 7 AND 8) ....cuvuviiiniiiinniiiiinniininns 1
7 1018038 WASHER, NARROW TYPE 13, #10 iieeiiiiiiiiiiieiiee e eeeeeceeeeeee e e eeen e 2
8 1018028 NUT, SERRATED, #10-32 ....iiiiii et 2
9 1017705 SCREW, PHILLIPS PAN HEAD, #8 TYPE AB ....ccoiiii e 3
10 1017965-01 BEZEL, RECEPTACLE ..o s 1
11 1018010-01 | PLATE, RECEPTACLE BACKING ....cuuuiiiieiiiiiiniiiiinniii s err s s ennnnnee 1
12 1018320-01 | SCREW, PHILLIPS PAN HEAD, #7-18 X 3/4 ....euuiiiiiiiieei e 4
13 1014304 NUT, STAINLESS STEEL HEX, 5/16-18 ...cctiiiiiiiiiiieiiei e 18
14 1011578 WASHER, FLAT, 5/16 eeetiiiiiiiiiiiiiiii et en e 6
15 1018030-01 | HOLD-DOWN, BATTERY ..ottt 3
16 1013683 5 I PPN 6
17 1017977-01 | BATTERY, 8 VOLT POWERDRIVE ... e e 6
18 1017957 ASSEMBLY, WIRE, #6 BLACK ...cctiiiiiiiiiiiiiiee i et 5
19 1017978-01 | CAP, BATTERY, 4 PORT GANG ..ottt e 6

12-18




